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1. Another representation of the expression <§) is
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Use the following information to answer numerical-response question 1.

The eight labelled points on the number line shown below represent rational numbers.

25
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Numerical Response m// fAR W At
- Match each of the following rational numbers to its corresponding point on the number line
shown above.
= 1% is located at Point i . (Record in the first column)
g : = :
g s located at Point / . (Record in the second column)
1.125 is located at Point 6 . (Record in the third column)
: ' .//
—0.875 is located at Point . (Record in the fourth column)
(Record your answer in the numerical-response section on the answer sheet.)
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Use the following information to answer question 2.

Aaron buys a cheeseburger for $6.50 and a container of milk for $0.80. Sam buys a tossed

salad and a bowl of soup. The soup costs $2.00 more than the salad. Sam’s meal is less
expensive than Aaron’s meal.

2. Which of the following number lines could represent the price of Sam’s salad?
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Use the following information to answer question 6.

Catherine sells cupcakes, c, for $1.50 each. The ingredients for each cupcake cost her $0.30,
and the sum of all of her other expenses is $20.00/month.

6. Which of the following expressions represents Catherine’s profit each month?

@ 1.5¢ = (20 + 0.3¢) D make =« /02%//7’, Ctherine has
B 20c — (1.5 + 0.3¢) ’%i yncke. rmMORe JAGH She 9&&%0/5.

C. (20+0.3c)-1.5¢ ;JDQ,BOC I8 qﬂ 20 ~p E‘Wﬂg@g
D. (1.5+03c)-20¢ lsf)ﬁO& —o 2oV

\/@*. g - (28 + o-30) b

\5.,,5/%}? T Aocd
Use the following information to answer question 7. p7E 1Y O%C@/@O

Jennifer’s goal is to save $1 200. Each week she saves 20% of her weekly income of $576.

7. How many weeks will it take Jennifer to reach her goal?

50 Qldete Yhe 20 % o $5%
&

24 :
= et ooy o 596 M
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Use the following information to answer numerical-response question 2.

The following graph represents a linear relation. p U.
) C‘ w
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Numerical Response

Based on the linear relation shown above, when the y-coordinate is 3, the x-coordinate
is

(Record your answer in the numerical-response section on the answer sheet.)
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Use the following information to answer question 11.

The letter W is in the centre of the diagram below and represents the location of a wireless
router for Internet access in a square house. The router provides access to the area represented
by the dotted circle in the diagram below. This circular area has a diameter of 20 m.

Fodiss < 10m

11. To the nearest tenth of a metre, the distance, x, from the router, W, to the middle of one

outside wall is
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Use the following information to answer question 12.

The area, A, of four square carpets is shown below.

Carpet 1 Carpet 2

A=185m?

Carpet 3 Carpet 4

fA-d4n)

e

A =22 m?

12. Which carpet will cover the most floor area, without touching a wall, when it is laid flat in
a square room that has a width of 4.5 m?

A. Carpet 1
i

Carpet 2
C. Carpet3

>Q./ Carpet 4 l "”l Seele /@_pr\gh'\)-_ iy
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Use the following information to answer question 13.

The cost of renting a car includes the base fee and a charge for each kilometre driven.
The graph below represents the total cost of renting a vehicle at four different rental car

companies.
Cost of a Rental Car

160
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= k=
8 80 i s}
o P 37 T
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0 10 20 30 40 50
Distance driven (km)

| @ Company W =d Company Y
S ~@i-Company X - Company Z

13. Which rental car company has the smallest charge for each kilometre driven?
A. Company W $ |00

B. Company X
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Use the following information to answer question 14.

The following 3-D object is composed of identical cubes. The volume of each cube is 8 cm?.

S, Ak
J\ans pach- l@w
V> wV\j‘%X W?&é’% (éingpﬂ‘ /: ]Z . L/ Oyﬂl
S 2 w4 = =
: : froaT 3 Baok 3
14. What is the total surface area of the 3-D object shown above? HE o
A 10en? SRR ?Q).{)Gcwx 9em? BohT 2 LT3
B. 100cm® < ’; e,

§ <
D. 72 cm?> q:j

o l'ﬂ T80 5+5+ 04 22,

15. The value of x in the equation 3(2x—1) = j(x +6

N’
[y
]

s & el 6@@{@)
i

c. 1%

p. 2
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Use the following information to answer question 18.

—

Each grey square in the design below has an area of 77.44 cm?, and each black square has
an area of 4.84 ¢cm?.

18.  To the nearest tenth of a centimetre, what is the height of the design shown above?

28.6 cm

Bs = 33.0:cm
€. . 352cm 11 ¢ <ed o /@Pfgﬂk e
D. 593cm Ao g 181

D Scelo Ung}& =t

Ao o ff( A 4y
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Use the following information to answer question 19.

| Legend

O=-1 U:—x =2

19. Which of the following models could be used to represent the division of 6x2 — 3x by —3x?
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Use the following information to answer numerical-response question 4.

An incomplete 2-D shape and its line of symmetry are shown in the diagram below.

Line of
symmetry

Numerical Response
n When the 2-D shape is completely drawn, how many points will be inside the 2-D shape?

Answer: ¢ { >2

(Record your answer in the numerical-response section on the answer sheet.)
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Use the following information to answer question 21.

The organizer of a 16-team soccer tournament wants to conduct a survey to determine the
minimum number of games each team in the tournament would like to play.

21.  Which of the following samples would provide the most reliable results for her survey?

A. One player each from half of the teams ( net all | farrs /P*/e/ " ﬁ‘ﬂ-)

: Scsme,
B. Every fourth team that registers in the tournament ( whed” '6 ﬁ\ﬁ Mo'ﬁ :TO@ )
D

hocr )
D. All of the players and coaches from one randomly selected team (P J’mT abow(

OT7Cr.

Three randomly selected players or coaches from each team ( At

Use the following information to answer numerical-response question 5.

In one month, Dale earned $180.00. He earned $45.00 by washing cars, and the rest by
mowing lawns.

‘Numerical Response
How many lawns did Dale mow if he received $9.00 for each lawn that he mowed?

Answer: / 5 lawns

(Record your answer in the numerical-response section on the answer sheet.)
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Use the following information to answer question 24.
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24. The graphs of the relations 3x+ y=17 and y=x+1 intersect at the point with
the coordinates
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Use the following information to answer question 25.

David creates the table of values shown below based on designs he assembles using black
and white 2-D shapes.

Number of 7 Number of
Black Shapes () | White Shapes ()
2, 7 w
. d e
4 11

25.  Which of the following equations represents the linear telationship between the number of
black shapes and the number of white shapes?

nntp SR Becacsoo, %ﬁaﬁ@@/y a}"ij‘}
B. 4b-1=w /s s Ao

C. 3b+1=w —RZC trom /74-67 i ;é)
(D) 2b+3=w :

§L/7CQJ 5:02_)/0':/7 26:«‘/)‘!‘07)

[=26+= | ta

26. When the expression (x>— 5x+4) = (3x> + 8x— 20) is simplified, the result is

@ 22 13x+24 ) &Wpéfj MoersS 7O (7‘&3%
D2 Bt 4l S S
22 + 135 — 24 S el Rre? /7S 7&3 ,%DD

2% 435 =16 m @//)OS;T{ Wy
( X2~ 5x 1y /3% -Ex+23)

ij 72

- B P e Sl D
Sl 2o d ooy

vaw
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Use the following information to answer question 29.

Legend A/’( ., Tééi’n/ 5

SNE B v

{ﬂfw& Vé{lﬁmw 4_@:;9
":;:’“ & QX)(/?‘; ( «‘W\"'r

29. Which of the following pairs of expressions represents like terms?

vl IR Sx oo X (R e TR

B. —6x2and ooono

gy onas —s (for Gl ek s)

C. 2(@x)and mmEmm

i Gines B S%éﬁﬂué’

!}"G’{QJ“ Ter2ms D" | ’M
Use the following information to answer question 30.
19 up gl wolf il =108
Led oty o+ bl = B-123F
B8N < i o

@ 4(~1x) and v ———

Expression1 (2% +22

Q)

Expression 2

Expression 3

S ———

30. Which of the following rows correctly identifies the expression with the lowest value and
the expression with the highest value? [

é‘

|

P
&/

Expression 1

Expression 2

'[C.

Expression 3

Expression 2

o

Expression 3

Expression 1

30
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Use the following information to answer question 32.

The 2-D shape shown on the Cartesian plane below is reflected about the y-axis.

Y

{

A
Line of reflection

32. If the original 2-D shape and the reflected image combine to form a new 2-D shape, what is
the angle of rotational symmetry of the new 2-D shape?

Ao o oae 02 A (twice ”0((73”
@ 180° Vjéﬁa Jeelg)

C. 270

D. 360° 6&;@"_ | £0°
g
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Use the following information to answer question 33.

Carly drew a design on the Cartesian plane shown below.

33. Which of the following equations describes line segment AB on the Cartesian plane shown

above?
@ y=s
B oo9=3
s glvwm Qe
D, =3

B gt Aag. T 4
/’3 P“’%@f’(@w ) e -

e
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Use the following information to answer question 36.

Legend

O0=-1 H=—x = —x2

Om

Polynomial 1: . I I I I O

Om

Polynomial 2: I l I U O
HE

Polynomial 3: mm I:I D I .

Polynomial 4: ;i

36. Which of the following expressions could represent Polynomial 4 if the sum of all four
expressions is 6x?

A. 9% -5x-1
@ P aex-2
€ - ixes
D 3P stix+l

Blgpannd 3 ol 2 1 il ]
%?m”m‘al ; 326/—~></~2><2’—2+( = Sl ey ]
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Use the following information to answer numerical-response question 9.

The large sail shown below is an enlargement of the small sail.
165 cm

280 cm

Numerical Response

n What is the height of the small sail if the scale factor of the enlargement is 2.50?

Answer: / / ;‘ cm

(Record your answer in the numerical-response section on the answer sheet.)

2§D ., S T @bo is
et T ol congrant

huj/\fx IR a3 4
ﬁ\g,(g‘/xf’: = i )

5 a3
%V’@-‘I
L b <m

P S -

o5
Q@éx’o; HE g~ L6A Cﬁw@ Keto)

e———

&L,

38



Use the following information to answer question 39.

Triangle ABC is similar to triangle DEF.

B

2y+5
y
F

C
ey
A —— 18

39. What is the length of side BC?

e
B. 13
© 15
D. 17

9O
- Qjm"
= 2(8) +5
= 15

Vl@b\/e:

69 = (29 +s)

]/j 5 /2j + 38

L B
g 20
g
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Use the following information to answer numerical-response question 10.

Numerical Response

Which two squares shown above represent the best benchmarks for estimating the value

ef J459

Answer: Square and Square LZ

{Record both digits of your answer in any order in the numerical-response section on the answer sheet.)

You have now completed the test,
If you have time, you may wish to check your answers.
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Use the following information to answer question 11.

The letter W is in the centre of the diagram below and represents the location of a wireless
router for Internet access in a square house. The router provides access to the area represented

by the dotted circle in the diagram below. This circular area has a diameter of 20 m.

11. To the nearest tenth of a metre, the distance, x, from the router, W, to the middle of one
outside wall is

Q i %, _ Aened) \M& cwecle
% 10.0 m : < AL &:—2_0 vy
)( 14.1m 'T'}‘é r=10 m
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